—r

FRISERE#HE R

\

REFERZR (ETRARRE) AFHARGEREE

R - B g% |wEs BE &
A = S = SHEE =
RIENZHAR 10 11 7 3 1.1 10 6 1.1 9 6
RIBENREF BN 6 6 4 3 1.0 6 4 1.0 6 4
RIBSTEFEI 4 5 3 1.3 4 2 1.3 3 2
IR AR 4 3 3 2 2 2
BEEFR 1 1 1
TEHHRR 6 4 0.7 4 1.0 4
MRRFE 3 2 0.7 2 1.0 2
MY ATA T P F K 3 2 0.7 2 1.0 2
ABSEZE IR 6 15 5 9 2.5 14 4 1.4 9 4
IS F B IN 3 10 4 5 3.3 9 3 1.3 6 3
FTEEFESEW 3 5 1 4 1.7 5 1 1.7 3 1
4ET 11U
BRERRE TR 1 1 1 1
A SRS 4 1 3 4 1 2 1
5 5 22 30 12 12 1.4 28 10 1.2 22 10




ERAEE

3
-,

BERIRFRFRBLIRIRBDAFHBRBERUE

PR SR
R - B g% |wEs BRE |ons AZE
AB g7 |uks |Bmyr |s@ss a7  |mEE |Bys |saEs * a7 |mmE |Bms

BRZHER 10 11 8 1 1.1 11 8 7 1.4 6 6
RIBENREF BN 6 9 8 1.5 9 8 7 1.1 6 6
RIBSTEFEI 4 2 1 0.5 2

RIS 1 1 1

HIEIRIBARE 2 R

REER 1 1

RESFE2
TEHHRR 6 3 1 2 0.5 3 3 1 1.0 3 1
MRRFEI 3 2 1 1 0.7 2 2 1 1.0 2 1
HEMYATA T FF I 3 1 1 0.3 1 1 1.0 1
ABEZE IR 6 11 5 6 1.8 11 10 5 1.1 7 4
IS F B IN 3 7 4 5 2.3 7 7 4 1.0 6 4
FTEEFESEW 3 4 1 1 1.3 4 3 1 1.3 1

4ET 1 1VER 1 1 1 1 1

BRERRE TR

A SRS 3 1 3 2 1

= 5 22 25 14 9 1.1 25 21 13 1.2 16 11




FRISEEZERIRFARFRBLRIRBDAFHBRRERUE

PR SR
R - B g% |wEs BRE |ons AZE
A a2 |gz |mmE |Bxs |wEEs A% |uz |mmE |Bxs |saEs A% |g7 |mEE
RIENZHAR 10 8 7 3 1 3] 0.8 8 8 7 3 1 3 1.0 8 7 3 1
RIBENREF BN 6 5 5 2 2| 0.8 5 5 5 2 2l 1.0 5 5 2
RIBSTEFEI 4 3 2 1 1 1] 0.8 3 3 2 1 1 1] 1.0 3 2 1
IR AR 2 2 1 1 2 2 2 1 1 2 2 1
HIEIRIBARE 2 R
BEEFR 1 1 1 1 1 1
RESFE2
TEHHRR 6 3 1 2 0.5 3 3 1 2 1.0 3 1
MRRFEI 3 1 1 0.3 1 1 1 1.0 1
HBYATA T FEI 3 2 1 1 0.7 2 2 1 1 1.0 2 1
ABEZE IR 6 5 3 2 2 0.8 5 4 3 2 1 1.3 4 3 2
IS F B IN 3 4 3 2 1 1.3 4 4 3 2 1 1.0 4 3 2
FTEUEFEI 3 1 1 0.3 1
4ET 1 1VER
BRERRE TR
A SRS 1 1 1
= 5 22 16 11 5 5 3l 0.7 16 15 11 5 4 3l 1.1 15 11 5




FRI6FEZERIKRFRFREETRARBIAFABRERUE

AR - B g% |LE@Es s5E oS AE
AS A% |aF |mEE |Bws |wEEs A% |aF |mEE |Bws |saEs A% |aF |
RIERZFHITE 10 5 2 1 2 1| 05 5 4 2 0 2 1l 1.3 4 2 0 2
RIEERRFFI 6 2 1 1 0.3 2 1 1 2.0 1 1
RIBSHBFEL 4 3 1 2 1] 08 3 3 1 2 11 1.0 3 1 2
MRS IR ES 3 1 2 1 3 3 1 2 1] 1.0 3 1 2
BRERR
TFHFER 6 0 0 0 0 0] 0.0 0 0 0 0 0 0] 0.0 0 0 0 0
MRBRSFEI 3 0.0 0.0
HEYATA T FEIN 3 0.0 0.0
ABSEFHITR 6 10 2 3 0 2| 1.7 10 10 2 3 0 2l 1.0 9 2 3 0
s S FFIY 3 6 2 1 1l 2.0 6 6 2 1 1] 1.0 5 2 1
FEEFFEL 3 4 2 1] 1.3 4 4 2 1l 1.0 4 2
H£5ET I 1R 1 1 1 1.0 1
INGEES: 3 2 1 3 3 2 1] 1.0 3 2
= 5 22 15 4 4 2 3l 0.7 15 14 4 3 2 3l 1.1 13 4 3 2




FHNTEFEZERIRZFRFARIBLRRBDAFABRERYUE

AR - B g% |LE@Es s5E oS AE
AS % |z7 |mms |2wr |weEes A% |aF |mEE |Bws |saEs A% |aF |
RIERZFHITE 10 11 4 5 3 | 1.1 9 9 4 5 3 11 1.0 9 4 5 3
RIEERRFFI 6 7 3 4 2 1.2 7 7 3 4 2 1.0 7 3 4 2
RIBSHBFEL 4 4 1 1 1 1 1.0 2 2 1 1 1 11 1.0 2 1 1 1
MRS IR ES 3 1 1 1 1 1 1 1.0 1 1 1
BERER 1 1 1 1 1 1 1] 1.0 1 1
TFHFER 6 2 2 1 0 2 2 2 1l 1.0 1 1
MBRBRSFEI 3 1 1 1] 0.3 1 1 1 1] 1.0
HERYATA T FEIN 3 1 1 0.3 1 1 1 1.0 1 1
ABSEFHETR 6 10 5 5 3 2| 1.7 10 9 5 4 3 2| 1.1 8 4 3 3
s S FFIY 3 5 3 1 2| 1.7 5 4 3 2| 1.3 4 3
FEEFFEL 3 5 2 4 3 1.7 5 5 2 4 3 1.0 4 1 3 3
45T Y U5
ERRER 4 2 3 3 4 4 2 3 3 1.0 3 1 2 3
INGE]ES: 1 1 1 1 1 1.0 1 1
= 5 22 23 11 10 6 4 1.0 21 20 11 9 6 4 1.1 18 9 8 6




FRISFERFRIBEIRARBDAZFABRERME

BERIKFE
AN - T g |bEs =8E |ans AZE
A A% |z |mmE |mwr |weEes A% |7 |mmE |myr |saEs A% |ug7 |mEE
RIERZHIAR 10 8 4 5 1] 0.8 8 8 4 5 1] 1.0 8 4 5
BRIEIRBFETL 6 5 3 3 1| 08 5 5 3 3 1 1.0 5 3 3
RIBFHTBEFEL 4 3 1 2 0.8 3 3 1 2 1.0 3 1 2
IS ISR 2 1 2 2 2 1 2 1.0 2 1 2
BiEER 1 1 1 1.0 1
TEHRR 6 1 0.2 1 1 1.0 1
MARFEI 3
MY ATA T FEIN 3 1 0.3 1 1 1.0 1
A HITR 6 6 4 4 2| 1.0 5 3 3 3 1| 1.7 3 3 3
IS SHE FHIN 3 2 1 1| 07 1
FEEFFY 3 4 3 4 1l 1.3 4 3 3 3 1] 1.3 3 3 3
43T I VR 2 1 2 1 2 1 1 1 1] 2.0 1 1 1
ERRRE 2 2 2 2 2 2 2 1.0 2 2 2
PNEIESFS:
=] 5 22 15 8 9 3] 0.7 14 12 7 8 2l 1.2 12 7 8




TR 1 OFEHZERIKFR R (B REERE) AFHBRERERE (TRk194E4 199 A BILE)

AN - T 2E |LEs SRE (5185 AZE
AS %  |u7 |mEs |2wr |wEEs A% |aF |mwEE |Bws |saEs A% |aF |t
RIERZFHITE 10 11 7 7 5[ 1.1 10 10 7 7 4 1.0 9 7 7
RIEEREFFI 6 5 3 3 2| 0.8 5 5 3 3 2| 1.0 4 3 3
RIBSHBFEL 4 6 4 4 3] 1.5 5 5 4 4 2| 1.0 5 4 4
MRS IR ES 3 2 2 2 2 2 2 2 1] 1.0 2 2 2
BERER 3 2 2 1 3 3 2 2 1] 1.0 3 2 2
TEHRR 6
MBRBRSFEI 3
HERYATA T FSE I 3
ABSEFHETR 6 8 4 4 3 2| 1.3 8 7 4 4 3 2| 1.1 7 4 4
s S FF I 3 5 3 3 2 2| 1.7 5 4 3 3 2 2| 1.3 4 3 3
FEEFFEL 3 3 1 1 1 1.0 3 3 1 1 1 1.0 3 1 1
£iET ¥ V5 1 1 1 1.0 1
ERRER 2 1 1 1 2 2 1 1 1 1.0 2 1 1
A BB R
= 5 22 19 11 11 3 71 0.9 18 17 11 11 3 6 1.1 16 11 11




T2 OFEHZERIKFXRZR (B RERE) AFHBRERERE (Fpk204E4 1 8 A BIAE)

AN - B 2E LB SRE |aBs AZE
AS % |uz7 |mEE |2wr |wEEs A% |u7 |mms |@pr |saEs %  |z7 |mms (2
RIERFHITE 10 3 2 2 2| 0.3 3 3 2 2 1.0 3 2 2
RIEERRFFI 6 1 1 0.2 1 1 1 1.0 1 1
RIBSHBFEL 4 2 1 2 2| 0.5 2 2 1 2 1.0 2 1 2
IR E
BEEFE (98) 1 1 1 1 1 1 1 1
BEERF (28) 1 1 1 1 1 1 1 1 1.0 1 1 1
TEHER 6 3 1 3 0.5 3 3 1 3 1.0 3 1 3
MRRFEI 3 1 1 0.3 1 1 1 1 1
HERYATA T FEIN 3 2 1 2 0.7 2 2 1 2 2 1 2
A HITR 6 10 4 5 1 2| 1.7 10 7 4 5 1 2| 1.4 6 3 4 1
W EFE L 3 6 2 3 1 2| 2.0 6 5 2 3 1 2| 1.2 4 1 2 1
TEEEEY 3 4 2 2 1.3 4 2 2 2 2.0 2 2 2
43ET Y VR 2 1 1 2 1 1 1 2.0 1 1 1
ERRRE 1 1 1 1 1 1 1 1.0 1 1 1
PNEIE S 1 1
=] 5 22 16 7 7 4 4] 0.7 16 13 7 7 4 2| 1.2 12 6 6 4




k2 1 FEZERERIRFRER BTRYRE AFARERBE (CERR214E4 1 5 HELE)

AR - T 2% |LE@s sns |ans AZE
AS &%  |z7 |mEs |2yr |sEEs &%  |z7 |mms |2yr |zaEs &%  |u7 |ows
RIERFHITE 8 1 1 1 1l 0.1 1 1 1 1 1| 1.0 1 1 1
RIEIREFEL 6
RIBSHBFEL 2 1 1 1 1| 0.5 1 1 1 1 1] 1.0 1 1 1
HIFIRIBRE (28) 1 1 1 1 1 1 1 1 1 1 1 1 1
BEEFE O 1
BEERF 28 |&Ht4

TR 3 3 1 3 1.0 3 3 1 3 1.0 3 1

Sl TEEW (1R 3 3 1 3 1.0 3 3 1 3 3 1

FRTHESEW (2R |[HTH4

AEXEZHER 5 3 3 1 2l 0.6 3 3 3 1 2l 1.0 3 3 1
g S FE W 3 1 1 1| 0.3 1 1 1 1 1 1
EEEFFEIN 2 2 2 1 1l 1.0 2 2 2 1 1 2 2 1

=] Bir 16 7 5 2 3 3l 0.4 7 7 5 2 3 3 1.0 7 5 2




Fk2 2 FEERERIKRFRER BT RYRE) AFHRERME (CVHR224E4H 4 7 BILE)

AR - T 2% |LE@Es s5E |oss AE
AS %  |z7 |mms |2wr |weEes % |7 |mms |2wr |saEs x% |7 |mEs
RIEBZFHIE 8 8 7 1 1 1.0 8 8 7 1 1.0 8 7 1

RIFENREFFIN 6 7 6 1 1 1.2 7 7 6 1 1.0 7 6 1
RIBSBEZEFTY 2 1 1 0.5 1 1 1 1.0 1 1

IEIRIERE (28) 1

BEEF (98) 1 1 1 1 1 1 1 1

RERFE (28) T4

TEHFER 3 2 1 2 0.7 2 2 1 2 1.0 2 1 2
Sl TEHI (1 R) 3
FRTHEER (2R |[HT4 2 1 2 2 2 1 2 2 1

AEEEHFTRE 5 4 1 3 0.8 4 4 1 3 1.0 4 1 3
HIRSEFEE W 3 1 0.3 1 1 1

|| EEUEFE 2 3 1 3 1.5 3 3 1 3 3 1 3

=1 5t 16 14 9 4 2 1] 0.9 14 14 9 4 2 1.0 14 9 4




Frk2 3SFREERIKNPRFPREIIRIRE) AFABRGERHME (V2344 15 F BIAE)

IR - BIY 2% |wE@s SRE |aiss AZE
A a% |7 |uwmE |Bwt |wEes A%  |w7 |uws [@ws |saEs &%  |u7 |uws |2
RIERI IR 8 5 3 2 1 0.6 5 5 3 2 1.0 5 3 2 1

RIREREFF L 6 4 3 2 0.7 4 4 3 2 1.0 4 3 2
RIBSTEFEFIN 2 1 1 0.5 1 1 1.0 1 1

HIFIRIBRE (28 1 1 1 1 1 1 1 1

BRESFE (98) 1

BEERF (28 |[At4

TR 3 2 2 0.7 2 2 2 1.0 2 2
Sl THEH (4R 3 1 1 0.3 1 1 1 1 1
FIRTHFER (2R) [FH T4 1 1 1 1 1 1 1

ANESE IR 5 5 1 3 2 1] 1.0 5 5 1 3 2 1 1.0 5 1 3 2
IESUEFE L 3 3 1 1 1l 1.0 3 3 1 1 1 3 1 1
TEUEZEL 2 2 2 2 1.0 2 2 2 2 2 2 2

=] 5t 16 12 4 5 5 1] 0.8 12 12 4 5 4 1 1.0 12 4 5 5




Frk2 4 FEERERIRPRPREIIRURE) AFABRGERHME (V2444 115 F BIAE)

IR - BIY 2% |wE@s SRE |aiss AZE
A a% |7 |uwmE |Bwt |wEes A%  |w7 |uws [@ws |saEs &% |u7 |uws
RIERI IR 8 5 3 4 4] 0.6 4 4 2 3 3 1.0 4 2 3
RIREREFF L 6 2 1 1 2| 03 2 2 1 1 2 1.0 2 1 1
RIBSTEFEFIN 2 3 2 3 2| 15 2 2 1 2 1 1.0 2 1 2
HIFIRIBIRE (28 1 2 2 2 1 1 1 1 1 1 1 1
BIEEFE (98) 1 1 1 1 1 1 1 1 1 1
BEERF (28 |[At4

TR 3 1 1 0.3 1 1 1 1.0 1
Fi TEHI (1 R) 3
SR TFER (2R) [FH T4 1 1 1 1 1 1

ANESE IR 5 7 4 1 5] 1.4 7 7 3 1 5 1.0 7 4 1
HIRSE B 3 6 3 1 4] 2.0 6 6 3 1 4 6 3 1
EEIEFE SR 2 1 1 1] 05 1 1 1 1 1

=] 5t 16 13 7 5 1 9] 0.8 12 12 5 4 1 8 1.0 12 6 4




TR 2 5 FEHERIXZRER BLRPFE) APERRERUE (PHk2543 A 21 HBILE)
IR - B ne |LEs =5E |aBs AZE
AB w7 |uwes |Byr |wEes w7  |mmE |@yr |saEs a7 |mmE  |Bmes
RIERFPHAR 5 10 2 2.0 10 10 1.0 9
RIREREFE 3 5 1.7 5 5 1.0 5
RIESHBFEL 2 5 2 2.5 5 5 1.0 4
IEIRERE (28 1 2 1 2 2 1 2
BEERF (98 1 2 1 2 2 1 2
BEERF (28) |14 1 1 1
TFHRR 3
Sl TEER (1R 3
Mim THEEY (2R T4
ANESHEZ R 5 7 2 1.4 7 6 1 1.2 6
HIBSUEF B 3 4 1.3 4 4 4
TEUEFBE 2 3 2 1.5 3 2 1 2
=) 5t 13 17 4 1.3 17 16 1 1.1 15 2




Fr2 6 FEEZEERIKXFRPER (BLERHZRE AZEBRERHME (CFAR264E4 1 5 H BU7E)

R « B 2% |wE@s sRE |68 AZE
AS A%  |w7 |uws [@xs |w@Es A% |u7 |uws [2ys |sops A% |a7 |HEE
RERFHIER 5 4 2 1 1] 08 4 4 2 1 1 1.0 4 2 1
RIREREFEFL 3 3 2 1 1.0 3 3 2 1 1.0 3 2 1
RIBTEFEFIN 2 1 1l 05 1 1 1 1.0 1
HIEIRIEREE (28) 1
BEERF OB 1
BEERF (28 |HT4 1 1 1 1 1 1
TR 3 2 1 1 1 0.7 2 2 1 1 1 2 1
Fim TFEIR (1 R) 3
R TEEW (2R |[Ft4 2 1 1 1 2 2 1 1 1 2 1
ABSEZFHITR 5 3 2 1 2| 0.6 3 3 2 1 2 1.0 3 2
S EFE L 3 2 2 2l 0.7 2 2 2 2 2 2
|| EEXEF T 2 1 1 0.5 1 1 1 1

(=] &t 13 9 5 2 2 31 0.7 9 9 5 2 2 3 1.0 9 4 2




T2 7 EEHERIKPRFR (RTRURR) AFCRRERBRE (CPRR27T4E4 A TH BIFE)

IR « B 2% |LEs SRE |oKs AZE
AS A%  |u7 |uwsE |[@ws |weEs A%  |uz |uws |[mzs |eops A%  |uz |aws |2

RIERZHITR B 7 2 2 1 2| 1.4 7 7 2 2 1 2 1.0 7 2 2
RIEEREFFL 3 5 1 1 | 1.7 5 5 1 1 1 1.0 5 1 1
RIBSHBFEL 2 2 1 1 1 1] 1.0 2 2 1 1 1 1 1.0 2 1 1

RIS RE (28 1

BREEFRF (98) 1 2 1 1 1 1 2 2 1 1 1 1 2 1 1

BRERFE (28) T4

TR 3 1 1] 0.3 1 1 1 1
Fif TEHI (4 R) 3
SR THSEW (2R |+ T4 1 1 1 1 1 1

AR EHZE R 5 2 1 2 1 0.4 2 2 1 2 1 1.0 1 1 1
1his S F B W 3

| | EEUEEER 2 2 1 2 1 1.0 2 2 1 2 1 1 1 1

=] 5t 13 10 3 4 2 3] 0.8 10 10 3 4 2 3 1.0 9 3 3




T2 8 FEHERIKPFRFR (R HRRARE) AFHRRERBE (PRk284E4 A 6 H HL7E)

IR « B 2% |LEs SRE |oKs AZE
AE A%  |u7 |uwsE |[@ws |weEs A%  |uz |uws |[mzs |eops A%  |uz |aws |2
RIERZHITR 5 2 1 2] 0.4 2 2 1 2 1.0 2 1
RIEEREFFL 3 1 1 1] 0.3 1 1 1 1 1.0 1 1
RIBSHBFEL 2 1 1] 0.5 1 1 1 1.0 1
IEIRIBRE (28 1
BREEF (98) 1
BEERF 28 |14 1 1 1 1 1 1
TFHHER 3 1 1 0.3 1 1 1 1 1
P THFSEIR (1K) 3
R THEW (2R | T4 1 1 1 1 1 1
ABSUEFHIR 5 2 2 0.4 2 1 1 2.0 1
HEUEFE L 3 1 1 0.3 1
| | EEUCBEER 2 1 1 0.5 1 1 1 1
= £t 13 5 1 3 2l 0.4 5 4 1 2 2 1.3 4 1 2




TR 2 9 FEHERITKEALE (BHEMNER ALRREREE

we | wEEs sHE | ans AZE
R «
AE w2 | 7 | wwE | 824 |SEss &% | w7 | uBE | B2s | =EEx x% | w7 | umE | 2
RIENZHAR 5 3 1 0 0 2| 0.6 3 3 1 0 0 2 1.0 3 1 0 0
RIREFREF B 3 2 1 1l 0.7 2 2 1 1 1.0 2 1
RIS EFEW 2 1 0 0 0 1l 05 1 1 0 0 0 1 1.0 1 0 0 0
HWIRIRERE (28 1
BERERF (98 1 1 1 1 1 1 1
RERR (28) |&HT4 0
TZHER 3 1 0 0 1 of 0.3 1 1 0 0 1 0 1 0 0 1
SR LFFER (1% 3 0] 0.0
FHIFEY (2R |&HT4 1 0 0 1 0 1 1 0 0 1 0 1 0 0
A EZ R 5 4 1 1 1 1| o8 4 3 1 0 1 1 1.3 3 1 0
IS EFEI 3 2 1 1l 0.7 2 2 1 1 2 1
FTEEFBW 2 2 1 1 1.0 2 1 1 1
=} gt 13 8 2 1 2 3| 0.6 8 7 2 0 2 3 1.1 7 2 0 2




T3 OFEFBRERIKFRER (B RURE AFPSERERME (T RZ304£4H 6 R IR7E)

g% | wEs s5s | ons AFE
B3R« B
A8 AZ | ABE | BF24E |GREER AZ | £#BES | BFE | REF/X PN= THE | B
RENZHARN 5 5 3 0 2| 1.0 5 5 3 0 2 1.0 5 3 0
RIBEREF BT 3 3 2 0 1l 1.0 3 3 2 0 1 1.0 3 2 0
RIBSTEFEY 2 2 1 0 1] 1.0 2 2 1 0 1 1.0 2 1 0
WIIRIERE (28) 1
BIEEE (98) 1 1 0 0 1 1 1 0 0 1 1.0 1 0 0
RERRE (2A) |&F4 1 1 0 0 1 1 1 0 0 1.0 1 1 0
TEHAN 3 4 0 3 of 1.3 4 4 1 3 0 1.0 4 1 3
iR THEEW (1% 3 2 0 2 o] 0.7 2 2 0 2 0 1.0 2 0 2
FMIFER (2R) |BF4 2 0 1 0 2 2 1 1 0 1.0 2 1 1
ABEXIEZEHARR 5 3 1 0 2| 06 3 3 1 0 2 1.0 3 1 0
I SUEF B 3 2 0 0 2| 07 2 2 0 0 2 1.0 2 0 0
FTEEFEW 2 1 1 0 of 05 1 1 1 0 0 1.0 1 1 0
=] &t 13 12 4 3 4 0.9 12 12 5 3 4 1.0 12 5 3

KIFHRBE FROFEMAZFEIREST




T3 1 FEFRRIKRPFRER (BLRURE AFSRERME (ERL3144 5 R B

z2x | LES =8E | ars AZE
R « FW
AS *x% | mws | B4 |wEex =% | mms | 83s | ==Ees A% | wHE | 2
IRIBERSFIITR 5 5 4 0 11 1.0 5 5 4 0 0 1.0 4 3 0
IRIBENREFFIN 3 5 4 11 1.7 5 5 4 1.0 4 3
IRIBSTEFEIN 2 0 0.0
MFRERE (28 1 0
BiEER (98) 1 0

RESE (2A) |HT4 0

TFHRFER 3 2 1 1 o] 0.7 2 2 1 1 0 1.0 2 1 1
Him TRER (1R 3 1 1 0.3 1 1 1 1.0 1 1
HHIFEHR (2R) |BHTF4 1 1 1 1 1 1.0 1 1

ABEMEZHAER 5 3 2 1l 0.6 3 3 2 0 0 1.0 3 2 0
HIENIEFEI 3 2 2 1l 0.7 2 2 2 1.0 2 2
FEUEFEFY 2 1 0.5 1 1 1.0 1

=) Hi 13 10 7 1 2| o038 10 10 7 1 0 1.0 9 6 1

KIFEHERE FHIOFEMAZEIRZET
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